. (’ e
: looH 1o
(Af, Subhas Chandra Bose




7. Which English General shu\n_'l:d
tribute to Rani of Jhansi saying
that “Here lay the woman who
was the only man among the
rebels™

[A]

Campbell

(B} Hudson

[C) Hugh Rose
(D) More than one of the above
[E) None of the above

8. Who was the Labour Minister in

Jawaharlal Nehru's Provisional
Government?

(4} €. Rejagopalachari

(B] Jagjivan Ram

(C} Aruna Asaf Ali

D} More than one of the above
[E} None of the above

8. In which month of 1918 was the
‘Champaran  Agrarian  Act’
Epasmed against the European
indigo planters?

(A} May

[B] November

(C] February

(D) More than one of the above
i

None of the above
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of the following

10 Wwhich one
" statements is correct?

|A) Brahma putt was the

second Satyagrahi in the
Individual Satyagraha
[B] The Indian Struggle was
written by Subhas Chandra
Bose.
A Bunch of Qld Letters was
written by Dr. Rajendra
Prasad.

[C]

(D) More than one of the above

(E) None of the above

11. Which tribe of Bihar attended
Gaya Session of Congress?

[4) Santhal
ﬁ [B) Sannyasi
{C) Oraon
(D) Mare than one of the ahoye
(E) None of the aboye
12. Which of the following pa; i
not correctly matched?

(4) Young Indio—
Mahatmg Gangyy

|B) Indian Spectator—
Surendranath Ba_ne.j%

C) Advocate of fndia—
Dadabhai N“U‘-'D_i[

(D) More than one of the aboy,,
(E} MNome of the above
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13. Which

of the following
movementsi wasgsled and
successful under the leadership
of Sardar Vallabhbhai Patel?
A) Satyagraha of workers
- cotton mills, Ahmedabad,
Gujarat :
(B) Satyagraha of Bardoli
Gujarat 2
(C) Satyagraha in support of
Khadi peasants, Gujarat
(D) More than one of the above
(E) None of the above

14. With reference to India and

Great Depression started in

1929, which of the following

statements is correct?

|A) The depression adversely
affected Indian peasants,
farmers, export and import.

(B] The impact of depression
on India indicates that

(D) More than cne of the above

if
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23. Which of the following was
formed: under the influence of
Russian Revolution and USSR?

(A) The Conference of the
Peoples of the East (1920}

(B) The Comintern

(C) The Communist Party of
Great Britain

(D) More than one of the above
(E) None of the above

24. Who said, “The basic cause of
problems facing Bharat is the
_neglect of its national identity™?
*[A) Keshav Baliram Hedgewar
[B] Madhav Sadashiv Golwallkar
(€)' Deen Dayal Upadhyay
(D) 'More than one of the above
(E) None of the above

25. Which of the following was
the major demand of
peasants participating in Non-
Cooperation Movement?

(4] Abolition of beggar

(B Open the entry of peasants
e areas to graze
their cattles, collect fuel
wood and fruits |

(C) Reduction of revenue

ﬂnu&ewmn“& t

(E) None of the above

26 mgmtmquieu

7.

e

proposed 11 4
division of - powers i
government between legislature,

" executive and judiciary in which

of the following books by him?
(A) My Thoughts

(B) Lettres Persanes [
(C) The Spirit of the Laws 1,;
(D) More than one of the above 3
(E] None of the above '?_l".‘

Which of the follomn. ing was the
main cause of deforestation
during the British rule in India?
{A) To meet the demand of
planned forests and
plantation of tea and coffee
(B) To improve land to meet
the demand c ded
cultivation ol

(C) To meet the demand of
AL .: i a'nd ‘.Lmﬁbly p
timbers for the Royal Navy

(D) More than one of the above




29 Which of the

30.

3l

following a;re
constituents of an ecosystems

(A} Plants

[B) Microorganisms

(C) Animals

(D) More than one of the above
(E) None of the above

Which of the follewing gases is
produced from landfills?

(A) Methane

[B] Liguefied petraleum gas
(C) Sulphur dioxide

D) More than one of the above
(E} None of the above

Which of the following represent
the food chain in a forest?

[A) Plants, frog, snake

(B] Plants, weeds, fish

[C) Flants, deer, lion

(D) More than one of the above
(E) None of the above

In the environment, plastica will
not be decomposed by the
action of

[4) saprophyte

[B) parasite

() bacteria

D) More than one of the above
(E) None of the above
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33

34.

35.

36,

Energy SOUrCEs that d_°_'ht

increase  carbonl S
include

(A) windmills

{B) nuclear power DL

[C) solar cells

(D) More than one of the above
(E) None of the above

Branching series in a food chain
is called

(&) food level

(B) food web

(C) food system

(D) More than one of the above
(E} None of the above

The green plants capture ___
of the sunlight energy and
convert it into food energy.

(A) 2%

B) 1%

C) 5% 4

D} More than one of the above
(E} None of the above

The Chipko Movement was
strengthened under the
leadership of

(A} Medha Patkar

(B) Sunderlal Bahuguna

(€] Amrita Devi Bishnoi

(D) More than one of the above
(E) None of the above
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, 90:
A man pushes more weight o

the Earth at

87.

(A} standing position

[B) lying position

(C) sitting position
D] More than one of the above

[E) None of the above

88. The coloured light that refracts

most while passing through a

prism 1s
e
J]

91.

[A) violet
(B) blue
[C) yellow
{D) More than one of the above

(E) None of the above

89. A piece of ice is dropped in a
vessel containing kerosene oil.
When ice melts, the level of
kerosene oil will

92,

(4) fan

(B) remain same

(©) rise

(D) More than one of the above

(E] None of the above
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The pH of which of the following
is more than 77

BT.
(A) Blood plasma
(B) Vinegar
(C) Gastric juice
(D) More than one of the above

(E} None of the above

The focal length of normal eye
lens is about

(A} 25 cm

(B) 2 em

[C) 1 mm

(D) More than one of the above
{E) None of the above
Which_substance is formed by
the action of chlorine gas on dry
slaked lime?

(A) Bleaching powder
(B) Hydrochloric acid
Caleium chloride

More than one of the above

None of the above













i olloWing i 112. What would be the time at ao° 1€
st : of Ama:::ngvme: East of Greenwich, if it is
i pey 12 noon at Greenwich?

(A) Chile (&) 1 pm.

B Venezuela B) 10 a.m.

(C) Argentina % Pl

D) Morcﬂ]anonenft.heahuv:

i { the above (D) More than one of the above:
(E) None o al

(E) None of the above
110. Which of the following options is

the correct sequence of layers of H i b
tmosphere starting from the 113. What are the man mineral
Earth's surface? constituents of the oceanic
i crust?
(&) Troposphere = Meso-
sphere — Stratosphere — (#) Silica and nickel

| Thermosphere — Exosphere

(B) Troposphere = Meso- (B) Silica and magnesium

| sphere — Thermosphere — (C) Silica and alumina
1 Stratosphere — Exosphere
(ol Thiposiiial S WaRT (D] More than one of the above
sphere — Mesosphere — bove
Thermosphere — Exosphere G b i
(D) More than one of the above 11 q :
e S 4. Which of the following explains
3 the term ‘mulching?
111. The correct pair of local name of (4) Covering the contours with
:hﬂou'hnnu: :Eﬂ‘-"“lmrc and related stones, grass, etc.
(A) Milpa—Rhodesia (B) Cropping along terraces
. Gimbabwre made on steep slopes
Ladang—Malaysia. (C) Covering the bare ground
(C) Chena—Bangladesn between crops with a layer
T L T of organic matter like straw
gw anmul‘r_h,abmg
. one of the ahoye : (D) More than one of the above
teppuy . (E) None of the above
: SR 111y &
A TR TR 1
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115. The correct pair of Indm:
petroleum producing area &0
its location is

(A) - Lunej Area—Gujarat

(B) KG Basin—Bay of Bengal
[C) Surma Valley—Assam

(D) Mere than one of the above

(E) None of the above

116. Which of the following trees
is wm—shjpped by = Mundas
and Santhals of Chota Nagpur
region?

(A) Mango

(B} Kadamba

(C) Tamarind ;

D) Mwetbmi.n;ofﬁwabuw
(E] None of the above

1. Yo o e v o
{A) Cucumber
(B) Watermelon
(C) Muskmelon
(D) Mweﬂ:mmofmabm
[E) None of the aboye

HMJWW""’ 2 I L

118, Which  of the  following

statements is true regarding
earthquakes?

(A) The place on tl}e surface
above focus is o called
epicentre.

Studying animal behaviour
is one of the methods of
prediction of earthquakes
adopted by local people.

(C) P-waves are transverse

waves.
(D) More than one of the above

(E) None of the above

(B

Which of the following

statements about Lake Superior

of North America continent is
true?

(A) It forms a geographical
boundary between Canada
and USA,

(B) It makes approximately
l700kml:uu.ndm—ybetwem
the two countries.

(C) It is world’s greatest salt-
water lakes group.

(D) More than one of the above

(E) None of the above

120. Which planet ig conaig e

the Earth's twin planet du
similarity in gh, et due to

ape and size?
(&) Jupiter i
(B] Venus
(C) Mars
:;I M“"ﬂ’mmoftheahm

None of the aise
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